This Question Paper consists of 25 questions and 11 printed pages.

3H U9-US | 25 Y9 q9 11 qfgd U ¥

Roll N’o. Code No. 67/ OS/l

TR HIR wIE A

SET/®T| A

DATA ENTRY OPERATIONS
STeT Ut ATITH
(229)

Day and Date of Examination :

(udtem =1 o = Tl )

Signature of Invigilators :

(Firerent & TETeT) 1.

General Instructions :

1.
2.

Answers of all questions are to be given in the Answer-Book given to you.
15 minute time has been allotted to read this Question Paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and
will not write any answer on the Answer-Book during this period.
Candidate must write his/her Roll Number on the first page of the Question Paper.
Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.
For the objective-type of questions, you have to choose any one of the four alternatives given in the
question i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given to
you.
All the questions including objective-type questions are to be answered within the allotted time
and no separate time limit is fixed for answering objective-type questions.
Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.
Write your Question Paper Code No. 67/0OS/1-A on the Answer-Book.
(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.
(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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HIHT 3T :

1.
2.

[t Il o IR AR & T I-GRew 1 & fore |

TG YIH-UF I UgH & faq 15 foe 1 gu fean o § 1 weR-us o foaor S 02,15 st foRar s
02.15 SISt 9 02.30 ST Tk BT holel G- hl Ui IR 39 TafY & SR J SW-Ydeh T HIE I T
el

Themelt J-T9 % 98 IS W Ul STIhHIS 3TV o |

FUAT YIA-T I S of o Y- % FoA TSI a1 T bt S & WA § Tt gorm I8 3 ol IR
T ¥ 1 3H 9 H S ot oA R 7o wfos s H ¥

TS T H AR =R faehedi (A), (B), (C) 71 (D) T ¥ Shig Weh S A1 & a1 & T8 Sa-ftenl §
& S o |

TS Ul o WY-T1 At g o SR Hifa stafy & i & < €1 SRgfTe uwHi o fo stem 9
A 7Tl Tz S |

IW-Yfedert H Team-fag oM stan fHfdse Tl o stfafta o2l off stgshdie foraq o wdenefl o1 s
SEE ST |

3T IRl W IH-95 &1 &€ 1. 67/0S/1-A fad |
(F) TA-9F haa s /TR 7 71w off, afc e = @ = < i fore T 9o § S R ©

Tforqd, srafian, S, HYHR, Fohd IR fat |

o S-YRert B fou e st B ford o oy g o 3w form @

(@) afe 3 & v AUt & srfaftaa fordl o= wmon § S foma € @ 994 0 9oeH | 29 el
Ffedi /et st ST Fee skt 2 |
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Note :

(i)  This question paper consists of 25 questions in all.

ii

. ~—

( All questions are compulsory.
(i) Marks are given against each question.
(iv) Section - A consists of :

(@) Q. No. 1 to 8 - Objective Type Questions/True or False/Fill in the blanks. Q. No. 1 to 7
carrying 1 mark each and Q. No. 8 carrying 2 marks. An internal choice has been provided
in some of these Questions. You have to attempt only one of the given choices in such
questions.

(b) Q.No.9to 17 - Objective type questions. Q. No. 9 to 10 carry 2 marks each (with 2 sub-parts
of 1 mark each) and Q. No. 11 to 17 carry 1 mark each (an internal choice has been provided
in some of these questions. You have to attempt only one of the given choices in such questions)
Attempt these questions as per the instructions given for each of the questions 11 to 17.

(v)  Section - B consists of :

(@) Q. No. 18 to 22 -Very Short Answer type questions carrying 2 marks each to be answered in
the range of 30 to 50 words.

(b) Q. No. 23 to 24 - Short Answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.

() Q. No. 25 - Long Answer type question carrying 4 marks to be answered in the range of
80 to 120 words.

(i) T9UA-TA H P 25 T L
(i) Tt T StfaTE ¥ |
(iii) I I F A 3TH 3k feu T )
(iv) @Ug - | e €
(a) WY WEAT 1 | 8 IS YHR & /W A¥an Tord/ R wom &t 9fd w7 €1y wsn 1 947
T T & faw 1 si fuifia § iR wyw W 8 & fou 2 ofs fuifa €1 98 @ = uodl o
aTiafier fashed Tem foru U 1 egent TR weAi  fau e fohedl § ¥ Shaet Ueh € A T
(b) WY HEAT 9 | 17 T TS YR o T & | W9 WA 9 | 10 Th Tk U9 2 37 & & (TIH
1 3% & 2 I9-9F o W) IR U9 W& 11 | 17 T T T 1 3% &1 § (378 9 8 YAl §
sTiafter fashey fau M &1 etmueht TH wol § fou T foased # & shaet Ueh foehed &1 & SW faam
BT1)  Hedesh W9 11 9 17 o forw feq 7 i o 18R 37 99 o SR ford |
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v) Tug - @ ¥ e € :
(a) U9 HEAT 18 W 22 T 31fd -3 YR o SI-aF 37kl o T &1 T Y1 & IW 30 W 50 T3

¥ feu s =fe |
(b) U WEAT 23 W 24 T TY-3TIT YHR & - 3{hi & T €1 37 Yo o IW 50 I 80 TIsai
¥ feu ST =fe |
(c) YT HWEAT 25 <H-ITIT YhR I AW ikl 1 T 1 T Y9 o1 I 80 © 120 VI H feam S
Rl
SECTION - A/@Usg - <h
1.  The set of programs in ROM which are activated when a computer is switched on and 1

Wthh activate different units of a computer are called

M (ROM) H feord Jrmi o1 99, Sl FrgeR o o= Wﬁmmm%aﬁ'{ﬁwﬁ
-7 e Sl |HRT I T, FHEAT T

2. What is the result of the formula=SUM(A1:Ab5) if cells A1l to A5 contain the values 1
5,10, 15, 20 and 25 ?

(A) 55 (B) 65 (C) 75 (D) 85
=SUM(A1: A5) HiHel 31 TROTH 1 ST afE A1 ¥ A5 Teh o Hail i aeg hHW: 5, 10, 15, 20 3R
25%7
(A) 55 (B) 65 C) 75 (D) 85
OR /3t

What is the result of the formula=MAX(A1:Ab5) if cells A1l to A5 contain the values
5,10, 15, 20 and 25 ?

(A) 15 (B) 10 ) 20 (D) 25

=MAX(A1: A5) WiHe 31 IRUMH 1 20T AfG A1 H A5 T & Jail i oeg HA: 5, 10, 15, 20 3R
25%?

(A) 15 (B) 10 ) 20 (D) 25

3.  What is the primary purpose of the Format Painter tool in Microsoft Word ? 1
(A) To change the font size
(B) To copy formatting from one place and apply it to another
(C) To create hyperlinks
(D) To insert images into a document

TSI I § HiHe Yo <o i ol a3 1 Il 2

(A) RIS HES h FG

(B) Weh T © WIHI hi iUl leh 3T T T I TS KAl
(C) TEWfd® TIR HT

(D) SlerpHe H g THE ATl

]
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4. sets the number format to Comma style that rounds to a whole number i.e. 1
without any decimal places.

(A) Comma [0] (B) Comma
(C) Currency (D) Currency [0]
FoR HiHe I A WEA H Ve HIA1 § S Th qoi g H, o qumera e %, T8
AT |
(A) Comma [0] (B) Comma
(C) Currency (D) Currency [0]
5.  Which chart type would you use to show trends over time ? 1
(A) Pie chart (B) Bar chart
(C) Line chart (D) Scatter chart
g & Y e YR *1 I @ S W@ T, I8 < o+ fore foma =y fohen S € 2
(A) E = (B) R
(C) e = (D) Thex =°
6. Slides can easily be ordered and sorted using view. 1
AN e SRSl I ST Wie SR e TR S et T |
7. Which function in MS Excel would you use to find the sum of values present in cellsina 1

range that meet a specific criterion ?
(A) COUNTY() (B) COUNTIF ()

(C) COUNTBLANK () (D) SUMIF()

THUH TS & ford heR o1 319 JAIT Rl STl STqeh! Tohelt fomie ol sl 01 ohid BT T IS
ofiaX ST Aot 1 AT FshTerT 2 ?

(A) COUNT() (B) COUNTIF()
(C) COUNTBLANK () (D) SUMIF()
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8. In the questions given below, there are two statements marked as Assertion (A) and
Reason (R). Choose the correct option out of the choices given below in each question
(attempt any 2) :
= fou T g H, 1 e faw e ¥ 5 @ T o TEeie (A) 3R T 1 e (R) % w9 ¥ fafed
ToRa T2 © 1 Ueh WA o A QU T foshedl ® 9 W@l fashew 9+ (Tl €t & o)

(i) Assertion (A) : In MS Word 2007, entire document can be selected by either

choosing Edit — Select All command on the menu bar or by pressing
Ctrl + A keys together.

Reason (R) : Ctrl + Shift + A keys are pressed together to deselect the selected part.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(

(

C) (A) is true but (R) is false.

D) (A) is false but (R) is true.

(E) Both (A) and (R) are false.
T (A) : U F€ 2007 H, R TEIES i faeee R & faw @ @1 ufee a9y @
AR — B IR R feiare 3iic wATE Sl A 31960 Ctrl + A SIS 1 Th

1Y T |

IS (R) : Ctrl + Shift + A S5l &l Teh W1l o § foeree fovan T vm Sifecee @
SIS |

(A) (A) 3R (R) I W&l € 31 (R), (A) T TE HRUT JOH Hl € |

(B) (A) 3R (R) I W&l € AfHA (R), (A) T TEl HROT JUMF & Al T |

Q) (A) & T W (R) T T |

(D) (A)7Ted § W (R) Tl 1

(E) (A) 3R (R) S TTera ¥ |
(i) Assertion (A) : The “Ctrl+Z” keyboard shortcut in MS Word is used to undo the last
action, including the insertion of bullets or numbering.
Reason (R) : “Ctrl+Z” in MS Word is the undo command, allowing users to revert
the document to its previous state, including the removal of recently
added bullets or numbering.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

(©) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

(E) Both (A) and (R) are false.

TEyi (A) : “Ctrl+Z” Shlele ke T JAN THTH I H fusan & o 7 & fag
B B, 9 dere R Hafin @ 3 e oft i g

T (R) : THTH g€ § “Ctrl+Z” T 37g FHIS § Sl Io™ ol SKTeS aras oo
T H o H Heg Yl ©, fored wre € § Sel T goe o Hafar
T AHA |

(A) (A) 3R (R) SHT T € 3R (R), (A) 1 WS 90 7|

(B) (A) 3R (R) I W&l € W (R), (A) 1 TSk I &l T

(C) (A) & T W (R) T T |

(D) (A) 7oA 8 | (R) T 7|

(E) (A) 3R (R) S TTera ¥ |
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(iii) Assertion (A) : Headers and footers in MS Word can only be applied to the first page
of a document.

Reason (R) : Headers and footers in MS Word can be set to apply to the first page,
all pages, odd pages, even pages or a specific range of pages.

) Both (A) and (R) are true and (R) is the correct explanation of (A).

B) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

C) (A) is true but (R) is false.

) (A) is false but (R) is true.

(E) Both (A) and (R) are false.

T (A) Uy € H Ted 3R el TEAeS & had YW U R & Twhe fohy S
T B |

ISH (R) : Uy 9€ H ¥ed iR Fed wl yum Ue, 9t U, sife U, o U A1 sl
F Tk T IS H T i & fore I faman S genan €1

(A) (A) 3R (R) THT T € 3R (R), (A) 1 WS 90 7|

(B) (A) 3R (R) IHI W& ¥ &fehA (R), (A) Tl Tl 90 & < |

(C) (A) e § W (R) T T |

( )

(

2>

(
(
(
(

B

~—"

D) (A)7ed § W (R) T 71
E) (A) 3R (R) S Tora ¥ |

(iv) Assertion (A) : In MS Word 2007, letter, legal, A4 are the options available under
paper size in the page layout tab.

Reason (R) : In MS Word 2007, there is no default setting for paper size option.
A) Both (A) and (R) are true and (R) is the correct explanation of (A).

B) Both (A) and (R) are true but (R) is NOT the correct explanation of (A).

C) (A) is true but (R) is false.

D) (A) is false but (R) is true.

(E) Both (A) and (R) are false.

TE9H (A) : THTE I 2007 H ST A= 39 & il U 92l § oy, e, A4 3mfg

o~ o~ o~ o~

forehed SueTsy B ¥ |
T (R) : T 9€ 2007 H, TR AR faskey & fau #5 Siwiee Sfdn = et €1
A) (A) 3R (R) ST @& ¥ IR (R), (A) T Gk 90 T
B) (A) 3R (R) Sl W&l § W (R), (A) FT Gk 0T & T |
Q) (

D) (A)7ed W (R) §&l T

)
)
A) T& § W (R) TTerd 1
)
E) (A) 3R (R) S Tora ¥ |

(
(
(
(
(
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9.  State True or False (Any Two) : 2

(a) Headers and Footers in Word are used for displaying information like page numbers,
document titles or dates at the top and bottom of each page.

(b) Adding shading to a paragraph automatically changes its font color.

(c) The “Columns” feature in MS Word 2007 allows you to create only two columns per
page.

(d) When you are typing along and reach the bottom of a page in a Word document, a
page break will be inserted automatically.

FEr 31T e sard, (fer=al &t & o) -
(a) o€ H TS IR Fed &1 WA U FoR, TS 1 IR A1 ARG St FEistt Sl Y Ut
29 3 dfen W feoxt o1 & fou gan ®1

(b) TETE H AFET Se W THHT Wi THol Td: T Sgel Wl ¢ |

(c) THTH T€ 2007 1 ‘' whicH’’ TR S9! Ui IS hael Ql hicH o i STIATT <l |

(d) TH IS STRHS H T T LY FJ I IS o A9 Tk TG &, T Toh IS ok SAerifesh €9
Y3 A SR

10. Fill in the blanks (any 2) : 2
(a) Shortcut key for inserting a page break is
(b)  Shortcut key for starting print preview is
(c)  Shortcut key for closing a file is
(d) Shortcut key for making the text left aligned is

e T W (fehedi <t & fero) -

(a) T TS 9k 30 H o faC Sfehe i 1 FART &Il S|
(b) Tie foeg =t yesma = & fog Yfdehe 1 FANT Bt B
(c) TRIEA FKS LT Tl Mohe I

(d) Jidehe i W TRS I AR AR foham S Fehell B

11. You need to create a list of steps for a recipe.
appropriate for this purpose.

e A & fAU SRl R Fi UE g TR w T 39 3 & fa e 29 @l
ERINESIRE

list type would be most 1
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12.

13.

14.

15.

16.

17.

67/0S/1-229-A ] 9 2% [ Contd...

is an input device that can be used to move the pointer and select objects on the
display screen by directly pointing to the objects with the pen.

U 3ye feard 8 e wE uiget @l g i SR ferat BhiA W A i e 6
Y fesioe T U5 Tleh fqoiee i & T Biar ¢ |

Single spacing in a paragraph causes line spacing.
(A) 10-point

(B) 12-point

(€) 18-point

(D) 24-point

T H feTe ST [SERRSIBUICE RIS

(A) 10-Tise

(B) 12-Tige

(C) 18-Tise
(D) 24-Tige

Which function in MS Excel would you use to calculate the average of a range of numbers ?
TUE TE & fRE e o1 JAM o1 Sensii & U {1 1 i9d hapere e & folt s € 2
OR/319raT

Which function in MS Excel would you use to calculate the sum of a range of numbers ?

THTH TR & foRd TR o1 TN 31T Seel & Weh {1 ol A1 herghore i o fag o § 2

Give the keyboard shortcut that can be used to make the text center aligned.

TR ! VR TARHA 9N & AT T EH a1t Hrere widshe i wamd |

Name the tab which allows you to adjust page margins, orientation and size in MS Word.

39 39 F1 M foad S vowy o€ | Sraeht U wifs, STiftdesm ok U res Yo A @t o1afa
AT

OR/319raT
Name the tab which allows you to Move or Cut text in MS Word.

39 9 &1 T ford S THed 9 § TR il YF A1 he HI i STIAM <l §

Name the tab and the group where can you find options for protecting worksheets and
workbooks in MS Excel.

39 39 3R 9 1 T ford ST 319 vHuH T § gehviie i ahee W & faskey faem €1
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18.

19.

20.

21.

22.

23.

SECTION - B/@Us - @

Differentiate between system software and application software with example. 2
e Wi SR Tedlehe™ |t & == S T2 i iR g7 e +ff ford |
OR/3AYdaT

Differentiate between low-level languages and high-level languages with example.

- AT 3R BE-dad WTas H 3T T Hifeu 37X 3e8L0 <ifeT |

Explain the difference between Save as file and Save as webpage in PowerPoint. 2

TleR-Tige H Hd TS FEd 3R T U Ae0sl o o= fal T hifu |

Explain the purpose of main document in mail merge. 2

T ASl § H&A SISl hl 3599 fowR ¥ saEe |

What are plotters and where are they used ? 2
e 1 § TR 3 el wan fepen S @ 2
Write steps to duplicate a slide in MS PowerPoint. 2

THTH dledise H WIES & gieihe il & = fafau |
OR/319raT
Why do you need to hide a slide ? Write steps to hide a slide in MS PowerPoint.

3MYHT TS ! B (RS HH) o SEYIHAl Fi ISl § 2 TALY Tlawaise H T T3S hl 8RS
FH & = fafay)

What are compilers ? Why are they needed in computers ? What is the program generated 3
by the compiler after translation known as ?

FHTEeR fhel Fgd €7 TRt Pl T STAvashal 91 § 7 HTIEer §RI IH¥H & a1 SE §U
TIITH ] 1 8] ST § 2

[E0E
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24.

25.

Explain the purpose of :
»  Slides

»  Handouts

»  Notes Page

in “Print what” option of Print Dialog box in context of MS PowerPoint.

Y ieRuEe H i Soe e o g ue fasey fie e’ # fruq 31 fawedl o1 329 auH
RIS
>  TEe™
>  deased
> AU
OR/3AYdaT
Explain the purpose of :
»  Sentence case
> Title case
»  Toggle case

in “Change Case” option of Text Formatting in context of MS PowerPoint.

THUH WalWise | R HiHTeT o faiid feerd ' =is ¥’ foshed 4 feord 37 19 6@ w1 3exd a0
I :

>  Himam
> A hH
> e HE

Write down steps to create a data source using Mail Merge Helper.

T ASl §9R T JINT hish Teh ST G IR hid & oy fafau
O WEDEN

What is mail merge ? Explain its uses.

A |l P &2 THh SYAN k1 AU HITIT |

-000-
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